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Prototype CusH401¢STe

AFLOW prototype label A3B2C9DE_oP64_62_cd_2c_5c¢2d_c_c-001
ICSD 135754

Pearson symbol oP64

Space group number 62

Space group symbol Pnma

AFLOW prototype command aflow --proto=A3B2CI9DE_oP64_62_cd_2c_5c2d_c_c-001
“Params:a,b/a,c/a,fh217962,22,333723,3347Z4,335,Z5,xs,Z67$7,277968,28,339729,33107
210,211, Y11, 211, L12, Y12, 212, L13, Y13, 213

e This is an approximation of the structure proposed by (Wang, 2021). In their work, the water molecule formed by the
H-I, H-IT and O-V atoms can have two slightly different positions, with the two possible oxygen positions only 0.42A
apart, and two of the possible 4 hydrogen sites only 0.08A apart. These short distances cannot be distinguished
computationally, and AFLOW has difficulty determining the correct label. We address this problem by moving these
atoms from (8d) Wyckoff positions to (4c) Wyckoff positions, changing the y coordinate of each from its given value to
1/4.

e The original structure can be found in the CIF provided by the ICSD.

Simple Orthorhombic primitive vectors
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ay; = aX
az = by
ag = cz
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = xlal—l—iag—f—zlagg axlf(—i—%by—i—czli (4c) Cul
B, = —(xl—%) al—&-%ag—&- —a(wl—%)&—i-%by—kc(zl—i-%)i (4c) Cul
(21 + %) as
B3 = —x1a; + %ag — Z1 Qs —axy X + %by — Cz1 Z (4C) Cul
By = (mi+3)ai+ia—(21—1) a3 a(zi+3) &+30y—c(n1—13) 2 (4c) Cul
By = mgal—l—iag—i—zgag angc—i—iby—f—czgi (4c) HI
Bg = —(z2—3) a4+ 2ay + —a(v2—3) X+ 209 +c(22+3) 2 (4c) HI
(22+3) a3
B, = —z9a; + %ag — 29 a3 —azre X + %by —c292 (4¢) HI
Bsg = (%24—%)&14—%&2—(22—%)&3 a(xg—l—%))‘(—i—%by—c(zg—%)i (4c) HI
By = l‘331+i32+23&3 angc—i—iby—l—cz;),i (40) HII
Bio = —(z3—3) ar+3ar + —a(z3—3) x+3by+c(z+3)2 (4c) HII
(z3+3) a3
B.1 = —z3a; + %32 — 23 a3 —axr3 X+ %by —cz37Z (4¢) HII
B = (1‘34-%) a1—|—ia2—(23—%) as a(xg—l—%)i—i—%by—c(zg—%)i (4c) HII
Bz = x4a1—|—%a2—|—z4a3 am45<+iby—|—cz42 (40) Ol
B14 = —(934—%) a1+%a2+ —a(x4—%)5<+%by—|—c(24—|—%)i (4(3) OI
(24 +3) as
By = —z4a; + %32 — 2483 —ars X+ %by — 242 (4¢) (O
Big = (m—i—%)al—l—iag—(@—%)ag a(m—l—%)&—i—iby—c(&;—%)i (4c) (0N
B17 = Tsag —|—iag—|—25a3 ax55<—|—%b§f—|—cz5i (4(}) O1II
Blg = 7(1’57%) a1+%a2+ fa(x5f%)ﬁ+%by+c(25+%)2 (4C) O1II
(Z5 + %) as
B = —zsa; + %ag — z5 a3 —axrsX + %by —c252 (4¢) O1II
By = (1‘54—%) al—l—iag—(%—%) as a(m—l—%)i—l—iby—c(%—%)i (40) oIl
By = Tegai + iag + zg a3 argX + iby + cz6 Z (4¢) O III
By = —(z6— %) a1+ 3as + —a(zg—3) %X+ 3by+c(z+13)2 (4c) O III
1
(2’6 -+ 5) as
By = —xgay + %ag — 2 as —axgX + %by —czs 2 (4c) O I1I
Boy = (Z‘G—F%) al—l—iag—(zﬁ-—%) as a(x6+%)fc—|—%by—c(z6—%)i (40) O III
Bos = z7a1+%a2+27a3 ax75<+ib§/+6272 (4¢) o1V
Bag = —(zr—3)ar+3a+ —a(zr—3) %+ 3by+c(zr+3) 2 (4c) o1V
(274 3) a3
2
Byr = —x7a + %ag — z7as —ax7 X+ %by —c2r 2 (4c) o1V
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B5g = —r13a; + (y13 + %) Ay — Z134As = 7(11‘135( +b (ylg + %) S’ — C213 Z (Sd) O VII

B60 = (xlg + %) a; — (y13 — %) ag — = a (1'13 + %) f( — b (ylg — %) y — (Sd) O VII
T (o~ b) 2

B61 = —T13A1 — Y132 — 213 a3 = —aris X — by13 5’ — CZ13 Z (Sd) O VII

Be2 = (z13+ 3) a1+ y1zas — = a(riz+3) X+byizy —c(z13— 5) 2 (8d) O VII
(213 - %) as

B63 = Trizag — (ylg — %) ag + Z13 as = CL11713)A{ — b (ylg — %) y -+ Cz13 2 (Sd) O VII

Bea = —(zi3—3) a4+ (yis+3) at+ = —a(zi3—3) X+b(yis+3) 9+ (8d) O VII
(213 +3) as c(213+3) 2
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